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5-5 Study Guide and Intervention

Inequalities Involving Two Triangles

PERIOD

SAS Ineq uaIity The following theorem involves the relationship between the sides of

two triangles and an angle in each triangle.

If two sides of a triangle are congruent R

to two sides of another triangle and the
included angle in one triangle has a /\
SAS Inequality/Hinge Theorem | greater measure than the included angle S 80° T BL80 4 C

A

of the second triangle.

in the other, then the third side of the It BS = AB, ST = BC, and
first triangle is longer than the third side ~ m2S > m«B, then RT > AC.

m Write an inequality relating the lengths
of CD and AD.

Two sides of ABCD are congruent to two sides of ABAD and
m/CBD > m/ABD. By the SAS Inequality/Hinge Theorem,
CD > AD.

Write an inequality relating the given pair of segment measures.

. M 2. 990 _~C
R B D
PN A

MR, RP AD, CD
3. 42 T 1/—; 4. N2 P
J N
H K M R
EG, HK MR, PR

Write an inequality to describe the possible values of x.
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Inequalities Involving Two Triangles

SSS Ineq uality The converse of the Hinge Theorem is also useful when two triangles
have two pairs of congruent sides.

If two sides of a triangle are congruent to two sides

N S
of another triangle and the third side in one triangle 2 % 23
SSS Inequalit is longer than the third side in the other, then the 23
9 Y angle between the pair of congruent sides in the M 5 P R % T

first triangle is greater than the corresponding angle
in the second triangle. If NM = SR, MP = RT, and NP > ST, then
m/ZM> msR.

m Write an inequality relating the measures of

C
/ABD and 2CBD. 13
Two sides of AABD are congruent to two sides of ACBD, and AD > CD. B b
By the SSS Inequality, mZABD > m/CBD. 16
A

Write an inequality relating the given pair of angle measures.

1. M 2. B
13
- 2 2
10
P N A9ip 16 ©
m/MPR, m/NPR m/ABD, m/CBD
3. X 4, X
A 48 20 28 Y
2 3 Z 30 Y
C 3 B w w2
m/C,msZ m/ XYW, m/WYZ

Write an inequality to describe the possible values of x.

5. (bx—6)° 6.
30 36 cm 60 cm
30
12
30cm
78 w 60 cm
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